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For use after Chapter 5

1. What is the equation of the line that passes In Questions 7 and 8, choose the state-
through the points (—3, 4) and (=9, 6)? ment below that is true about the given
® y=-%-1 B® y=-+3 numbers.
© y=-3%-5 @D y=-3x+12 A. The number in column A is greater.
B. The number in column B is greater.
2. A line with a slope of —3 passes through the C. The two numbers are equal.
point (4, —3). If (=3, p) is another point on D. The relationship cannot be determined
the line, what is the value of p? from the given information.
@ -21 ® 0
© 18 D 24 1.1 Column A Column B
. ) ) x-intercept of | x-intercept of
3. An ef]uatlon of the line parallel to the hn_e x—3y=4|3x—Ty=—6
y = 3x — 2 and passes through (3, —5) is
T, A ® © )
& y=-3x+4 ®y=%x+13*4 i T P e =
A n
© y=-3x-12 @ y=h—6 UL o
slope of slope of
4. An equatmn of the line perpendicular to the 9x — 12y =8| 4y — 3x =16
line y = 4x + 4 with a y-intercept of —35 is
7. A ® © @
3 3
® y=—-p-5 ® y=px-5 9. What is the equation of the line that best fits
© y=%-5 D™ y=-2%+5 the scatter plot?
I . & A = —
5. What is the equation of the line that passes L ) i &% Y B %+ i
through (—6, 2) and has a slope of —3? | g R
rough (— )14 peo 4 © y=x+1
B y= sx*s‘ .y=—§x—2 i 1 @ y=x—1
© y=-5+6 @ y=-3—-6
-3 3 x
6. What is the equation of the line shown in the “371
graph? o
| v R y=—x~—1 L
i 3
i ® y=—%x+3
| © y=-x+3
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